


Addition Word Problems
Sums to 10
Instructions: Read each word problem. Count the pictures to
find the sum.

A. Peg got 3 gifts for her birfhda.y. "-":.

Meg got ' gifts for her birthday. €F W €F )
What is the total amount of gifts the gr.rls h,a,ve
altogether?

3+Y4=] gifts

B.Iha.veSbooles.ii i i i

I buy 2 more books. i i

How many books do I have now?

5+2= books
=

I see b6 orange hats. ¢ -

C. I see 2 red hats.

How many hats are there altogether?

2+6= hats
D. Sid has 4 cars, CH G0 G Sy
Cam has | car.ﬁ

How many cars do they have in all?

g2 v | I



